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1.(2022 # &% 4 E |1 R)ffa, B Esin (@ + ) + cos (a + B) = 2v/2cos (a + %) sing, ()
Atan(a+f)=1 Btan(a+p)=-1 Ctan(a—f) =1 D.tan(a — f) = —

2.(2021 2B ¥ £)#Ha € ( g) tan2a = Ziosnaa, Mtana =( )
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PO - 2L\ _ sinf(1+sin26)
3.(2021 #Fm A A E | £)4tand = Z’W‘U—sinmcose = )
A-2 B.—2 cl D2
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4. (2022 # i % 7 #h)# 3sina — sin (5 — @) = V10, Mllsina =
[ 41 5:5] ]
%l 1. (1)#tana = 2tan— WU% =( )
Al B.2 c3 D.4
L T b4 __ 1+sinf
2)kta € (O’E)’ﬁ € (O’E)’ Htana = ~cosB U )
A.3a—ﬁ=§ B.2a—ﬁ=§ C.3a+ﬁ=§ D.2a+ﬁ=§

(3)it%tan20° + tan40° + v/3tan20°tan40° =



il 2. (2021 R#EHR)EA ABCH, A, B, C XKL 5 5 Na, b, ¢, 2. KlsinA: sinB: sinC = 2:1:V2,b =
V2.

(V)KRal1d;
(2)>R cosCIHI1H;
(3)Ksin (2 - Z)Afi.

] 3. (2021 L1 & s 3 1 —#E)EA ABCHY, 1A, B, CHIXHA 2 5 Ma, b,c.E4la = 3,c = V2,B = 45°.
(1)>RsinCHIMH;
(FEIBC LI £1D, i cos2ADC = — = Rtans DACIH{H,

1] 4.(2022 #1 iy K 0 T K2R P KAL) B A ABCH, A, B, CHTA I35 3 N a, b, c, A—— = tanB +

tanC ccosB
(DRMACHIRN,
(Q#dc = 2,J71ABHIH RUND, K 2 CDR A BUE TE .
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L (2021 A3 i —8) Coisin (6 — ) =2, Wisin20tand = ()

AZ B cB D43
3 3 3

2.0 %a € (0,m),H.3cos2a — 8cosa = 5,lIsina =( )

¥5 B2 cl D.
3 3 3
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3. (2021 F AL HRER T —AR) A1 2sin(r — &) = 3sin (g + a),mﬂsinza - %sinZa —cosla=( )

5 1 5 1
A— B.——= C—= D=
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4. (2021 #+ —4eA) 56 € (5,5), Hsin (0 +7) =S Mlltang = ()

A7 B2 cl D2
3 7 5

5. (Z15/8) (2021 #ALAT 5 E)HE A ABCHINFIA, B, CHTXT 138 73530 9 a,b, ¢, Hi /&b + 2acosC = 0,
W RIS IERRZ( )

AMC—ENBMA Ba?2+2b2—-c2=0 C.3tanA+tanC =0 D.tanB E@%Mﬁi‘yg

6. (2 i) (2022 # b & L —AL) ELHItand = 2,0 51 4518 IE A ) 72 ( )

sin 6—-3cos 6 1 . _4
A.tan(n — 9) =-2 B.tan(n + 9) =-2 CW = —; D.sin20 = s
714EA ABCH sin A = g,cos B = 1—53,)rl|JCOSA = ,cosC =

8.7EA ABCY,C\%tanA + tanB + 3tanAtanB = 3,tanCHI{E N



9. (2022 #ALARINEA ABCH, L flcosdsin (A +2) = 2

2
(1)>R4;
(2)#'sinB + 2cosB = 2,>KtanC.

10. (2022 Wi % S H7 =A%) A ABCIHI P11 A, B, CHIXHA5 A, b, c.cos (3 — B) - sin (3 +B) =2,
a+c=2.
(Q):RABHIRAN;
(2)3RA ABCHMEZIR AR 1 £ /M.

1L /EB A = MILABCH, f A, B, CHIXIA4Y ) Na, b, ¢, H.2bsinA — v/3a = 0.
(1)RABIIKAN;
(2)=KcosA + cosB + cosC I EUE L.



